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MATHS

BOOKS - UNIQUE MATHS (HINGLISH)

SIMILARITY

1. Base of a triangle is 9 and height is 5. Base of
another triangle is 10 and height is 6. Find the ratio

of areas of these triangles.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5UuMhYbrQqJC
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Answer: B

o Watch Video Solution

2. In
APQR, PM = 15, PQ = 25, PR = 20, NR = 8.

State whether line NM is parallel to side RQ or not.


https://dl.doubtnut.com/l/_5UuMhYbrQqJC
https://dl.doubtnut.com/l/_2Nf0aYQ5buJc

Given Reason.

A. No, because NM is not dividing PR and PQ in

equal proportion

B. yes

C.No, NM is dividing PR and PQ in equal

proportion


https://dl.doubtnut.com/l/_2Nf0aYQ5buJc

D. none

Answer: A

o Watch Video Solution

3. In AMNP,NQ@Q is a bisector of ZN. If

MN =5, PN = 7, MQ = 2.5, the find QP.


https://dl.doubtnut.com/l/_2Nf0aYQ5buJc
https://dl.doubtnut.com/l/_gLM5WjYpdsNq

o Watch Video Solution

4. Measures of some angles in the figures are

AP AQ
PB  QC

given. Prove that



https://dl.doubtnut.com/l/_gLM5WjYpdsNq
https://dl.doubtnut.com/l/_gmlQukld2IV3
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° Watch Video Solution

5.In trapezium ABCD side AB | | side PQ | | side

DC, AP = 15, PD = 12, QC = 14, find BO.


https://dl.doubtnut.com/l/_gmlQukld2IV3
https://dl.doubtnut.com/l/_3vkpo6LCWqTR

A.14.5

B.16.5

C.17.5

D. 18.5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3vkpo6LCWqTR
https://dl.doubtnut.com/l/_TDvwpmkfvjMd

6. In AABC, seg BD bisects ZABC. If AB = «x,
BC =2 +5 AD =z — 2, DC = x + 2. Find the

value of z.

o Watch Video Solution

7. In AABC\ay BD bisects ZABC and ray CE

bisects ZACB. If seg AB = seg AC, then prove


https://dl.doubtnut.com/l/_TDvwpmkfvjMd
https://dl.doubtnut.com/l/_EQfdBZwVirta

that ED || BC.

o Watch Video Solution

8. Are the triangles in following figures similar?

If yes by which test?

P

6 10 L
3N

Q 8 R M 4 N

o Watch Video Solution



https://dl.doubtnut.com/l/_EQfdBZwVirta
https://dl.doubtnut.com/l/_bbwILoMHJxln

9. Kamala have drawn a trapezium PQRS of which
PQ | | SR.If the diagonals PR and @S intersect
each other at (O, then prove  that
OP:0OR = 0Q: 0S5, If SR =2PQ, then prove
that O is a point of trisection of both the

diagonals.

o Watch Video Solution

10. The ratio of corresponding sides of similar
triangles is 3:95, then what is the ratio of their

areas.


https://dl.doubtnut.com/l/_jguW8QKsMUXQ
https://dl.doubtnut.com/l/_a22tP7UuxsCU
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Answer: D

o Watch Video Solution

M.1f AABC-APQR and AB: PQ = 2:3, then fill

in the blanks:


https://dl.doubtnut.com/l/_a22tP7UuxsCU
https://dl.doubtnut.com/l/_JE5HijNsdrmn

A(AABC) (AB 22 O
A(APQR) 0O 32 O
A(AABC) AB* 22 4
A(APQR) PQ*> 32 9
o Watch Video Solution
12. If

AABC-APQR, A(AABC) = 80, A(APQR) = 125

, then fill in the blanks:

A(AABC)
AA )= A2 D

o Watch Video Solution



https://dl.doubtnut.com/l/_JE5HijNsdrmn
https://dl.doubtnut.com/l/_8EzNtnLa71Zb

13. ALMN-APQR,
9 x A(APQR) = 16 x A(ALMN). If QR = 20,

then find M N.

o Watch Video Solution

14. Areas of two similar triangles are 225sqem and
81lsgcm. If a side of the smaller triangle is 12¢m,
then find the corresponding side of the bigger

triangle.

A. 20cm

B.21em


https://dl.doubtnut.com/l/_uF9K3OkiFgbK
https://dl.doubtnut.com/l/_N5nW6TZv9FhG

C.22cm

D. 23cm

Answer: A

° Watch Video Solution

15. AABC and ADEF are equilateral triangles. If
A(AABC): A(ADEF) =1:2 and AB = 4, find

DE.

o Watch Video Solution



https://dl.doubtnut.com/l/_N5nW6TZv9FhG
https://dl.doubtnut.com/l/_E1fAnTCf8v7L

16. Ratio of areas of two triangles with equal height
is 2: 3. If base of the smaller triangle is 6 cm, the
what is the corresponding base of the bigger

triangle?

o Watch Video Solution

17. AMNT-~-AQRS. Length of altitude drawn from

point T is 5 and length of altitude drawn from

. . . ~ A(AMNT)
point S is 9. Find the ratio :
A(AQRS)

° Watch Video Solution



https://dl.doubtnut.com/l/_O9UXeGqniG3V
https://dl.doubtnut.com/l/_XjuwGiSKwy39
https://dl.doubtnut.com/l/_FkyPNfRr8dIL

In APQR seg PM is a median. Angle bisectors of
/ZPM@ and ZPMR interesect side PQ and side
PR in points X and Y respectively. Prove that
XY | | QR.

Complete the proof byfilling in the boxes:

o Watch Video Solution



https://dl.doubtnut.com/l/_FkyPNfRr8dIL

19.In [JABCD, seg AD | | seg BC. Diagonal AC
and digonal BD intersect each other in point P.

Th h thtAP—PC
en show that = = —=.

A D

° Watch Video Solution

20. In AABC, seg DE|| side BC. If

2Ar(AADE) = Ar(0DBCE), find AB:AD


https://dl.doubtnut.com/l/_gQe0lDNtFCk6
https://dl.doubtnut.com/l/_2IKVRxpoPDry

and show BC = /3 x DE.

o Watch Video Solution

21. Lex X by any point on the side BC of a triangle
ABC. If XM, XN are drawn parallel to BA and CA
meeting CA, BA in M, N respectively; MN meets BC

produced in T, prove that TX? = TBxTC

o Watch Video Solution

22. Two poles of height a metres and b metres are p

metres apart. Prove that the height of the point of


https://dl.doubtnut.com/l/_2IKVRxpoPDry
https://dl.doubtnut.com/l/_v9wQqJPHNKO5
https://dl.doubtnut.com/l/_x7JYsdswfbh6

intersection of the lines joining the top of each

pole to the foot of the opposite pole is given by

ab
a+b

metres.

o Watch Video Solution

Unique Practise Session Mcqs

1. Sides of two similar triangles are in the ratio 4: 9

. Areas of these triangles are in the ratio. 2: 3 (b)

4:9(c) 81:16 (d) 16: 81

A 2:3


https://dl.doubtnut.com/l/_x7JYsdswfbh6
https://dl.doubtnut.com/l/_jNWvSUNwhRIv

B.4:9

C.81:16

D.16: 81

Answer:

o Watch Video Solution

2. The areas of two similar triangles are in
respectively 9 cm?and 16 ecm?. Then find the ratio

of their corresponding sides.

A 3:4


https://dl.doubtnut.com/l/_jNWvSUNwhRIv
https://dl.doubtnut.com/l/_IEpyTvwrptYV

B.4:3

C.2:3

D.4:5

Answer: A

o Watch Video Solution

3. A vertical stick 20 m long casts a shadow 10m
long on the ground. At the same time, a tower
casts a shadow 50m long on the ground. The
height of the tower is (a) 100m (b) 120m (c) 25m (d)

200m


https://dl.doubtnut.com/l/_IEpyTvwrptYV
https://dl.doubtnut.com/l/_NTE0C18praoK

A. 100m

B. 120m

C.25m

D. 200m

Answer:

o Watch Video Solution

4. Two isosceles triangles have equal angles and
their areas are in the ratio 16:25 . The ratio of
their corresponding heights is 4:5 (b) 5:4 (c) 3:2

(d)5:7


https://dl.doubtnut.com/l/_NTE0C18praoK
https://dl.doubtnut.com/l/_tp6XEAPc3Iqi

A.4:5

B.5:4

C.3:2

D.5:7

Answer:

o Watch Video Solution

5.f ABC and DEF are similar triangles such that
AB = 3cm, BC = 2¢m, C'A = 2.5¢mand

EF = 4cm. Write the perimeter of A DEF.


https://dl.doubtnut.com/l/_tp6XEAPc3Iqi
https://dl.doubtnut.com/l/_MzyXG28Yeopy

A. 7.5ecm

B. 1bem

C.22.5e¢m

D. 30cm

Answer: B

o Watch Video Solution

Unique Practise Session 1 Marks Question

1. SAS Similarity Criterion : If in two triangle; one

pair of corresponding sides are proportional and


https://dl.doubtnut.com/l/_MzyXG28Yeopy
https://dl.doubtnut.com/l/_1oFOLzaZKstD

the included angles are equal then two triangles

are similar.

o Watch Video Solution

2. The ratio of corresponding sides of similar
triangles is 5:7, then what is the ratio of their

areas?

o Watch Video Solution

3. Two sides and the perimeter of one triangle are

respectively three times the corresponding sides


https://dl.doubtnut.com/l/_1oFOLzaZKstD
https://dl.doubtnut.com/l/_58SDrEuXKoLj
https://dl.doubtnut.com/l/_qIFRwhLbAxAJ

and the perimeter of the other triangle. Are the

two triangles similar? Why?

o Watch Video Solution

Unique Practise Session 2 Marks Question

1.In AABC'point D is on side BC such that DC = 6,
BC =15. find

()A(AABD): A(AABC) and


https://dl.doubtnut.com/l/_qIFRwhLbAxAJ
https://dl.doubtnut.com/l/_OAOekvQvvmFF

(i) A(AABD): A(AADC).
A

o Watch Video Solution

2. AABC-APQR. f A(AABC) = 25,

A(APQR) = 16 find AB: PQ.

o Watch Video Solution

Unique Practise Session 3 Marks Question


https://dl.doubtnut.com/l/_OAOekvQvvmFF
https://dl.doubtnut.com/l/_iTYc28P7inAI
https://dl.doubtnut.com/l/_RP17rcaDUCUG

1. If the bisector of an angle of a triangle bisects
the opposite side, prove that the triangle is

isosceles.

o Watch Video Solution

1
2. In Fig. 4241, DEBC and AD = EBD . f

BC = 4. 5¢m , find DE . (FIGURE)

° Watch Video Solution

Unique Practise Session 4 Marks Question



https://dl.doubtnut.com/l/_RP17rcaDUCUG
https://dl.doubtnut.com/l/_EU3iCojEcdFG
https://dl.doubtnut.com/l/_tZdeW6S2FlII

1. ABCD is a trapezium such that AB||CD. Its

diagonals AC and BC intersect each other at O.
AO BO

Prove that =

oCc OD

o Watch Video Solution

2. If one diagonal of a trapezium divides the other
diagonal in the ratio 1:2, prove that one of the

parallel lines is double the other.

o Watch Video Solution

Assignment |



https://dl.doubtnut.com/l/_tZdeW6S2FlII
https://dl.doubtnut.com/l/_9ldSV7fcYtOs

1. AABC and ADEF are equilateral triangles,
A(AABC): A(ADEF) = 1:2

If AB = 4 then what is length of DE?

D

A 2,/2

B.4

C.8

D.4,/2


https://dl.doubtnut.com/l/_yLOk7PQ1JpBP

Answer:

° Watch Video Solution

2. If ABC and DEF are similar such that

2AB = DE and BC = 8m , then EF = (a)

16cm (b) 12cm (c) 8cm (d) 4cm.

A. 16cm

B.12cm

C.8cm

D. 4dem


https://dl.doubtnut.com/l/_yLOk7PQ1JpBP
https://dl.doubtnut.com/l/_Uy4BoWxUkh0K

Answer:

° Watch Video Solution

3. Areas of two similar triangles are 225 sq cm and
81 sq cm. If a side of the smaller triangle is 12 cm,
then find the corresponding side of the bigger

triangle.

o Watch Video Solution

4. In AABCyray BD bisects ZABC and ray CE

bisects ZACB. If seg AB = seg AC, then prove


https://dl.doubtnut.com/l/_Uy4BoWxUkh0K
https://dl.doubtnut.com/l/_rIzVhApPLcC7
https://dl.doubtnut.com/l/_BhNLWUYwgvbZ

that ED || BC.

o Watch Video Solution

5. Prove that , "If a line parallel to a side of a
triangle intersects the remaining sides in two
distinct points then the line divides the sides in the

same proportion".

o Watch Video Solution



https://dl.doubtnut.com/l/_BhNLWUYwgvbZ
https://dl.doubtnut.com/l/_KQ6J0HtIAH7y

